Mr Lightfoot		1st July 2020
Lesson 2: Share by a ratio part 2
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Nicky — 8, Jacinta — 16, Charlie — 12
£1500, £2500 and £2000

Gemma — 155 cm, Alisha — 160 cm,
Omar — 175 cm

Raspberries — 150 g, strawberries — 225 g,
redcurrants — 75 g

£25 6 40 7 14
72°, 144°, 36° and 108°
Length =30 cm, width =6 cm
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6.3 Dividing in a Given Ratio

Ratios can be used to divide an amount into two or more shares.
The numbers in the ratio show how many parts of the whole each share gets.

Example 1
Divide £54 in the ratio 4:5.

i
2.
B.

Add the numbers to find the total number of parts.
Work out the amount for one part.

Then multiply the amount for one part

by the number of parts for each share.
(Check the shares add up to the original amount: £20 + £34 = £54)

4+ 5 =09 parts altogether

9 parts = £54

So 1 part=£54 +9 = £6

£6 x4=4£24

£6 x 5=£30

So the shares are £24 and £30.
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Example 2

A drink is made using apple juice, blackcurrant juice and lemonade in the ratio 3:2:5.

How much lemonade is needed to make 5 litres of the drink?
1
2
3.

Add the numbers to find the total number of parts.
‘Work out the amount for one part.

Then multiply the amount for one part
by the ‘lemonade number” in the ratio.

3 +2+5 =10 parts altogether

10 parts = 5 litres
So 1 part = 0.5 litres

0.5 litres x 5
= 2.5 litres of lemonade
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Exercise 3

Nicky, Jacinta and Charlie share a bag of 36
sweets in the ratio 2:4:3. How many sweets
does each of them get?

Three friends win £6000 between them.
They decide to share the money in the ratio
3:5:4. Calculate the amounts they receive.

Gemma, Alisha and Omar have a combined
height of 490 cm. If their heights are in the
ratio 31:32:35, how tall are they?

A box of 48 chocolates contains dark, milk
and white chocolates in the ratio 2:7:3. Jeff
doesn’t like dark chocolates. How many of
the chocolates can he happily eat?

Claire owns 20 handbags, which are black
brown and purple in the ratio 5:3:2. She
is choosing a bag and doesn’t want it to be
brown. How many bags does she have to

choose from?
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A fruit salad is made from raspberries,
strawberries and redcurrants in the ratio
2:3:1. How much of each fruit is needed to
make 450 g of fruit salad?

A quiz team share their prize money in the
ratio 2:4:6. What is the least amount any
team member wins if the prize is £150?

o
o

The four angles in a quadrilateral are in the
ratio 2:4:1:3. Calculate the sizes of all four
angles.

The length and width of a rectangle are in the
ratio 5: 1. If the perimeter of the rectangle is
72 cm, calculate the length and the width of
the rectangle.




